Wages vary widely and many economic factors explain.

1.  ABILITY

2.  EDUCATION

3.  EXPERIENCE

4.  EFFORT

5.  LUCK
(CHANGES IN THE DEMAND OR SUPPLY) 

6.  UNIONS

7.  DISCRIMINATION

8.  JOB CHARACTERISITCS
LINK BETWEEN EDUCATION, ABILITY, AND EFFORT 

Proxy variables can measure desirable but difficult to measure personal characteristics.
EDUCATION AS SPECULATION 

Wages can predictably cycle but oil prices can’t, WHY?
UNIONS


-  Provide information to employers
-  Attempt to suppress competition among employers to increase members’ wages.

May not increase overall wage levels

Must allocate scarce jobs and prevent entry.

DISCRIMINATION

-  Taste discrimination v. statistical discrimination.

-  Taste discrimination creates profit opportunity
WE HAVE LEARNED THAT   --

PRICES DIRECT ECONOMIC ACTIVITY

  COST AND BENEFIT OF AN ACTION IMPACTS 

WHAT GOODS PEOPLE BUY

WHAT JOBS PEOPLE CHOOSE

WHAT INDUSTRY ENTREPRENEURS ENTER

WHETHER PEOPLE GET MARRIED

SUPPLY - DEMAND & EQUILIBRIUM PRICE

                     IMPLY




   

ALL GOODS WITH VALUE TO THE BUYER GREATER THAN THE COST TO THE SELLER ARE PRODUCED
GOODS WITH VALUE LESS THAN THE COST ARE NOT PRODUCED

THE INVISIBLE HAND OF COMPETITION DIRECTS INDIVIDUALS TO TAKE ACTION THAT MAXIMIZE SOCIETY’S OUTPUT.
I HAVE ASSUMED THAT INDIVIDUALS’ AND FAMILIES’ DECISIONS AND ACTIONS AFFECT ONLY THEMSELVES - but not always the case!

EXTERNAL EFFECTS - consumption, production or exchange decisions impact parties not part of the decision.


EXAMPLES
CONSIDER A PARTICULAR TYPE OF GOOD to illustrate the general problem that arises when externalities are present.

PUBLIC GOODS
PUBLIC GOOD - CONSUMPTION BY ONE DOES NOT REDUCE THE AMOUNT AVAILABLE FOR OTHERS TO CONSUME.



PYTHAGORIAN THEOREM



MUSICAL COMPOSITION

SOME “LOCAL” PUBLIC GOODS CAN ONLY BE CONSUMED BY A LIMITED NUMBER OF CONSUMERS 



THE PERFORMANCE OF A MUSICAL COMPOSITION

THIS LECTURE

??WILL THE MARKET LEAD TO THE CORRECT AMOUNT OF PUBLIC GOODS??

EXAMPLE – A FENCE BETWEEN MY NEIGHBOR’S AND MY YARDS

HEIGHT

MARGINAL VALUE
     MARGINAL   SOCIAL 

 (FEET)

ME

NEIGHBOR           COST            MV

    1
100
100
180
200



2
150
200
180
350


3
200
300
180
500


4
250
400
180
650

5
150
300
180
450


6
100
100
180
200


7
  25
  50
180
  75

COST  $180 PER FOOT OF HEIGHT

EFFICIENT FENCE HEIGHT?? 

- ADD HEIGHT IF THE COMBINED MARGINAL VALUE EXCEEDS THE MARGINAL COST.

IF BELIEVE MY NEIGHBOR WILL REVEAL HIS VALUE, WHAT SHOULD I DO IN MY SELF INTEREST??

REVEAL NO VALUE  STILL GET 5 FEET.

FREE RIDER PROBLEM – I CAN BENEFIT FROM YOUR PRODUCTION OF A PUBLIC GOOD SINCE YOU GET TO CONSUME EVEN IF DO.

MARKET PRODUCTION AND ALLOCATION OF GOODS WILL BE EFFICIENT WHEN THE BENEFITS AND COSTS ARE IMPOSED ON THE INDIVIDUALS’ MAKING THE PRODUCTION AND CONSUMPTION DECISIONS

WHEN INDIVIDUALS OTHER THAN THE PRODUCTION OR CONSUMPTION DECISION MAKERS ARE IMPACTED NO LONGER DOES THE INVISIBLE HAND OF THE MARKET IMPLY EFFICIENCY

SINCE PUBLIC GOODS ARE AVAILABLE TO ALL, THIS IS AN EXAMPLE IN WHICH MARKET PRODUCTION MAY BE INEFFICIENT

WITH EXTENSIVE PUBLIC GOODS (E.G., PROTECTION)  THE EXPECTED IMPACT ON THE EQUILIBRIUM QUANTITY FROM AN INDIVIDUAL UNDER REVEALING VALUE (ATTEMPTING TO FREE RIDE) IS 

TRIVIAL

WE THEREFORE EXPECT THE PRIVATE PRODUCTION OF PUBLIC GOODS TO LEAD TO PRODUCTION LEVELS BELOW THE EFFICIENT AMOUNT

IS GOVERNMENT PRODUCTION A SOLUTION??

- GOVERNMENT CAN SEPARATE REVEALED VALUE FROM PAYMENT


- CREATES INCENTIVE TO OVERSTATE VALUE

- TENDS TO LEAD TO TOO MUCH PRODUCTION

   (GAINS CONCENTRATED, COSTS DISPERSED)

WHAT ECONOMIC JUSTIFICATIONS ARE THERE FOR GOVERNMENT PRODUCTION?

GOODS WHERE FORCE IS AN IMPORTANT INPUT OR OUTPUT

TAX FINANCED GOODS WHERE PAYORS DESIRE DIFFERENT ATTRIBUTES THAN CONSUMERS

